5= HIOI=

A& (dictionary)
— HT M| AIAZA, CIOIEHIOIA 2R 22
_ Et_l O.I/\-H:‘El:l 9—|_U_|_OIE.IO.” OlOH /\H/\'|E|E /é!%
- 24IE 20 AS A2 HO0IZ0/2ts B0 AR

Ol A CIOIES AFM
HIOI=

AS HOIS

- 0| E-5440 A&

— C++0l Al map<string, int> words ; words[“time”] =1 ;

— Al2aHAE0IE2 S, 82 =29 ¢

- B H=E 0|82 A2, S22 )| T A8EXE AIS
ol 2lAE

i
o2t

P

ol



structure SymbolTabIe(SymTab)
objects: &2 0|S-542 A0|H 0|2 ==0| 8iLt.
funcnons-
2= name €0|S , attr 54, symtabeSymbolTab,
max_size € 8 ==0{ Lot}
SymTab Create(max_size) ::= 2l & max_size?l Bl Al

AMEHOIS MY
Boolen Isin(symtab, name) ::=if (hameO| symtab0| Y2 H) return &
else return H %!
Attribute Find (symtab, name) ::=if (nameO| symtab0f U S H)

=

return oot 4
else return & =4
SymTab Insert(symtab, name, attr) ::= if (nameOl symtab0il JA2H)
M £4Z2 attr2 X

else symtabll (name, attr)2| A= Al
SymTab delete(symtab, name) ::= if (nameO| symtab0i] &1 S ™)
return

else symtab 0l (name, attr)E 4K
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Al (hashing

=
KNETMER|E AIZ0H, nJiol Al XD}
O] AR A2 2= 0O(n), 10&0H ML
O(log n)
)2 EtMS SHGHA| 2D fAlstCte
ELAH AMOL AMHIZE 281 O(1)
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o el HIOIZ
- b2 HALZE

ht[1], ... htlb—1] 2
- 2 I:Hj“o sIfol ==

%
e

1|OIELHO| = 2 wg LU

I
o > 0Z
g oo

9 & (identifier density)

/T, nSEWNEWQH:M%XWM¢'kE§
dPT AE RS Z0l1JF 62 A0ID, 2 EAt
X0l 12, umﬂﬂﬂﬁ—mmWC&=¢rikﬂ

26 X 36 x 36 x36x36x36>1.6x1079

M LS, B 2l£=(loading density, loading factor)

— a = n/(sb)

e
o= e
>

>4—|
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il

Ol I
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o
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= H XHsynonym)

- H3A = beE & AME Jts MY TEL OIF 2208 2 i
Al B f= 2] A0S AYETIE S B30 AFAFAIZAOF
ol HRIM &M (i 1) =1f(i_2)elidt,i2

- HAO| Bl =22 JIA YD ULH = HAE HE

PHE=z : M2 A8 LE JIs& HAN oAl dl= 85

== S AQIsHAIEXIF SLE HAN A= B

H3AC AJ[IJ 19 R LH=2Z22 S=0| sAI &M

GIAl 8.1 : b=26J12] H31 s=2021 o & HIOI= ht, ¢ 20| E

el 8o =2 1OJHOI AtQI S AYETIE DNAHE

- 8T 9l==a=10/52=0.19

— ol AlEt e f(x)= x2 H 22X a—zE 0-252 AM4

- 2t0lEd 2l &= "acos’, ‘define’, ‘float’, ‘exp’, ‘char’,
‘atan’, ‘ceil’, ‘floor’, ‘clock’, ‘ctime’= 2r2f tH3l 0, 3, 5,
4,2,0,2,5,2, 201l oi &,



=X 0 =5 1
0 acos atan
1
2 char cell
3 define
4 exp
5 float floor
6

- ‘acos’ et ‘atan’2 = H A, “float’ 2t ‘floor’, ‘ceil’ 1t
HAAl S AHA ‘clock’2 ht[2]0l HAZ[=0l O] B3!0]
QOO Z QPHEZ I &EMeIEZ 0|2 Mol &Y

3
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[

b
i NE oo

- 1>
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SEMe UHBME 2= ol x 2 =302, x_4=211=

22 =20 LHHAl 252F ot 123 + 302 + 241 + 211 +
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L O d"

° %%ﬂ'. EI:H%EE DI—Kl 6|.'— s
SAEIjetF= A (linear open addressing) £= A& XA
— XM 218 (chaining)

O0FHE N-12 Bz 184 0| Jisgt Xt

#define MAX_CHAR 10 /» &E X2l X S Kbz */
#define TABLE_SIZE 13 /*» =} HIOI=2 AJ| = &z */
typedef struct {
char key[MAX_CHAR] ; //E2XE 2 0| &
[*x TIE Z2E = */

} element ;

o

7|

element hash_table[ TABLE_SIZE] ;



void init_table(element ht[])

{
inti;
for (i=0; iKTABLE_SIZE; i++)
htli].key[0O] = NULL ;



olal HIOISH AEXE &6 0

Az H3Esh F ol &EEE ol Al é‘#% X 26l 0F St}

int transform(char *key)

{ /[ 2Ss JH BtAlOZ M4 H2AUS ANHSE MA «/

E
o
x
T

int number =0 ;
while (xkey)

number += xkey++ ;
return number ;

int hash(char *key)
{/* 9|2 N2 HEGIH HIOIE AJIZ2 Lhe LHHKIE &£
FAIZ */

return (transform(key) % TABLE_SIZE) ;



olal HOISH M2 AEXE & ¢
- ol =49 oy ==X0| Ul JACHH HE
- H3A0| JISXF JUCHH IHE JIN0] UL HAM Bl &=20] U
= H3AS S 88 e =4
— 0l) “for’, ‘do’, ‘while’, “if>, ‘else’, ‘function’2 &0l ol
A2 2= UE, i’ “function’0l 2222, “function’
2 103 82, ht{o]Jol &
MY | HEA HEt X | oAl
for 102 +111+ 114 327 | 2
do 100 + 111 211 3
while 119+ 104 + 105+ 108 + 101 537 | 4
If 105+ 102 207 | 12
else |101 + 108+ 115+ 101 425 | 9
function | 102+117+110+99+116+105+111+110| 870 | 12




function

for

do

while

else

I\)_LO@(I)\ICDO‘I-BOOI\)—LO




2. htlf(x)+j] It €: Ol |IXI0 &
3. htlf(x)+j] l=x: GtE 2 XS0 M= BRE22 H =Sl
M LS B = A
H

st~ linear_insert() 2t 28 O



void linear_insert(element item, element ht[])
{
int 1, hash_value ;
i = hash_value = hash(item.key) ;
while (strlen(ht[i].key)) {
if (Istrcmp(htli].key, item.key)) 1
forintf (stderr, “Duplicate entry Wn”) ;

exit(1) ;
}
i = (i+1) % TABLE_SIZE ;
if (i == hash_value) {
forintf (stderr, “The table is full Wn”) ;
exit(1) ;
}
}
ht[i] = item ;



8 SAE=2 A8AE etz E&8ote 0] US

— Ol Ml 8.129 ‘acos’, ‘atoi’, ‘char’, ‘define’, ‘exp’, ‘ceil’,
s

‘cos’, ‘float’, ‘atol’, ‘floor’, ‘ctime’= A:XPDFO OI%é
ofAet+=E 0|20t 26002 H2A= JH&l oi &l HI Ol =20

AOISHIH, A USH MHDERIC HlW 3=~

AL0E TR 41/11 % 48 4@

bucket X # of comparisons
acos 1

atoi
char
define
exp
ceil
COS
float
atol
floor
ctime

I
0Y O
Iz
ﬂlQﬂ ﬂl

OO | |IN|OO(OT|A~|W | IN|(F]|O
OO |w|ol|(d PPN

[HEN

N |
(-n "




Ao SAAEC 28 =M= ofZot)| <ok
1. Ol Xt = AFH (quadratic probing) Al=

—(f(x) +i) % b, 0<=i<=b- 10HAI0

—f(x), (f(x) +i72) % b, (f(x) —i"2) % bE Z Al

2. Mol &l (rehashing) Al=
— (HH RS ol &1 1,12, ..., T bE AI=

3. 82 ZAtE: A=A
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#define MAX_CHAR 10 /» A8 Xt =0 S A= */
#define TABLE_SIZE 13 /* X|UH HIOIE2 AD| = A «/
#define IS_FULL(ptr) (I(ptr))

typedef struct {
char key[MAX_CHAR] ; //2 X<

/* EE I C = */

ulo

Ol=

7|

rol

;E—

} element ;

typedef struct list xlist_pointer ;
typedef struct list {
element item ;
list_pointer link ;

list_pointer hash_table[ TABLE_SIZE] ;



void chain_insert (element item, list_pointer ht[])
1 /* Mo =2 083l HOISH 22 &L %/
int hash_value = hash(item.key) // ol &l 3= H A
list_pointer ptr, trail = NULL, lead = ht[hash_value] ;
for(; lead; trail = lead, lead = lead—>link)
if (Istrcmp(lead—>item.key, item.key)) {
fprintf(stderr, “The key is in the tableWn”);exit (1) ;
s
ptr = (list_pointer) malloc (sizeof(list)) ;
if (IS_FULL(ptr)) {
fprintf(stderr, “The memory is fullwn”) ; exit (1) ;
1
ptr—>item = item ;
ptr—>link = NULL ;
if (trail)  trail->link = ptr ;
else ht[hash_value] = ptr ;



« M AHAIE EMole B Hlu ==
— ‘acos’, ‘char’, ‘define’, ‘exp’, ‘float’ il A= &tH
— ‘atoi’, ‘ceil’, ‘floorr= &, ‘atol’, ‘cos’= Al
~‘ctime’2 HHole2 B2 21/11 = 1.91
[0] > acos > atoi > atol T
1] | T
[2] > char > ceil > COS > ctime —
[3] > define |1/ -
[4] > exp T
[5] > float > floor T
6] | —T
[25] | —T
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